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Question Number : 1 Question Id : 91394324297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following is the best field of study to improve the ability of students to
experiment and analyse ?

Options:

Science
91394395401,
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91394395403 LCONOMICS
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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291594235401,
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Question Number : 2 Question Id : 91394324298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Suppose as a teacher you are training your students in public speaking and debate. Which
among, the following is most difficult to develop among the students ?

Options:

Concept formulation
91394395405,
91394395406, Voice modulation

Usine/Selecting appropriate laneuave
91394395407, g/ R T S o =
91394355408, Control over emotions
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Options:
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Correct Marks: 2 WrongMarks: 0
Among the ft..‘sﬂnwing which one is not an instructional material ?
Options:

- -!I — 5
1394395400 2UdIO podcast

11 3 OOl
1304395410 L rinted study guide

Overhead projector
91394395411,

) e video
0159439541 5. Youtube videc
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Which among the following is best advantage of Choice Based Credit System ?
Options:

SRS Shift in focus from teacher-centric to student-centric education

a1za4395414 LIOPTOVINg classroom attendance

1304305415 11€lping teacher to complete syllabus on time

Reducing examination anxiety among students
91394395416. 2 /
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Question Number : 5 Question Id : 91394324301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
Which among the following reflects best the quality of teaching in a classroom ?
Options:

T - g ¥ " - . -~ ¥ O
91394395417 ['hrough full attendance in the classroom

Through the use of many teaching aids in the classroom
91394295418, :

1304395419 LNrough observation of silence by the students in classroom

r 1 ." ‘-r L :I' .'I - I--| k- -|’ L-. L-| - —) -|- Il-| Il-| N - -~ I.-|L-| 'l’ 'l,
— ['hrough the quality of questions asked by students in classroom
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Question Number : 6 Question Id : 91394324302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The four major operations in scientific research are :

(a) Demonstration of co-variance

(b) Elimination of spurious relations

(c) Sequencing in terms of time-order

(d) Self-education

(e) Operationalisation of personal choice
(f)  Theorisation

Code :

Options:

(a), (b), (c) and (d)

21594295421,

(c), (d) and (e)

91394395422, (b)’

o1394395403 Q) (D), (€) and (f)

(c), (d), (e) and (f)

2915394235424,
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91334595421,

(b), (©), (d) 3R (e)

B13345395422.

(@), (b), (c) 3R (f)

913345395423,

(9), (), (e) ST ()

2915394235424,

Question Number : 7 Question Id : 91394324303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0

Formulation of a research problem depends upon :

(a)  What is the object behind the researcher’s choice ?

(b)  What are the specific questions ?

(c)  What is the conceptual model ?

(d) What negative factors to research upon ?

(e) Reasons for unlimiting the study.

(f)  Construction of hypotheses.

Code :
Options:

c), (e) and (f)

91394395425, (a), (



91394395426, (b), (¢), (d) and (e)
o1394395407 (@) (D), (€) and (f)

91394395428, (c), (d), (e) and (f)
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9153394235427,
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913345395428,

Question Number : 8 Question Id : 91394324304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A variable that is manipulated is known as :
Options:

2 T
a13a4395409 —oONtrol variable



a1za4395450. D€Pendent variable

150439545 NAependent variable

Confounding variable
91394395432,
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Correct Marks: 2 Wrong Marks: 0
T =) FoqH - & T ©, A © :

Options:

. ; HT

91334595425

=R

91334535430

2912345395421, =

IASH aTel T
Q1294298422
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The components of a research design are :

(a) Comparison (b) Control
(c) Reactivity (d) Manipulation
(e) Non-representativeness (f)  Generalisation
Code :
Options:

91394395433 (a), (‘:)’ (e) and (f)
(b), (c), (d) and (e)

B1334595424.

91394395435, (a), (b), (d) and (f)

91304595455, () (d), (e) and (f)
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913345395424,
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2915342354356,

Question Number : 10 Question Id : 91394324306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Artifacts that arise and affect the internal validity in research are :

(a) History (b) Randomisation (c) Maturity
(d) Instrumentation (e) Experimental mortality (f)  Matching
Code :
Options:

91394395437, (a), (b), (c) and (d)
01394395435 (a), (c), (d) and (e)
91394395439, (b), (¢), (d) and (f)

91394395440, (d), (e), (f) and (b)
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Correct Marks: 2 Wrong Marks: 0
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Options:

(a), (b), (c) 3R (d)

913345395437,

(a), (c), (d) 3 (e)

9123345395438,

(b), (<), (d) 3T (f)

913345395439,

(d), (e), (f) ¥R (b)

H913345395440,
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Read the following passage carefully and answer questions 11 to 15 :

Singapore has long advocated for India to take up its role as an integral part of the
region. It is gratifying to see how Asean - India relations have grown during the past
25 years. In 1991, when the Cold War ended and India began its economic liberalisation,
Singapore saw an opportunity to deepen ties and build on its historical and cultural links
with the Asian region. Singapore pushed for India to become a full Asean dialogue partner
in 1995 and join the EAS in 1995 and since then, Asean - India ties have strengthened. All in
all, around 30 platforms for co-operation exist, including seven ministerial dialogues and the
Annual Leader Summit. However, there is scope for more and it is a must. For instance,
there are tremendous opportunities in enhancing physical and digital connectivity between
India and Asean. Asean is committed to strengthening land, air and sea linkages with India.
These linkages will enhance people-to-people flows, as well as boost business, investment
and tourism. The India-Myanmar-Thailand trilateral highway will connect India’s Northeast
to mainland Southeast Asia. While one can fly directly between India and several Asean
countries, there is still much room to expand air links to support growing business and tourism.
Beyond physical linkages, digital connectivity is the new frontier in the Fourth Industrial
Revolution. India has made great progress in innovation, Start-ups and digital inclusion.
There are opportunities to apply initiatives such as Aadhaar in our region. E-commerce and
FinTech are two other areas of potential collaboration. As an economic hub, Singapore can
serve as a springboard to launch these ideas to Southeast Asia and beyond. India’s role in
Asean should be anchored by growing economic ties with Singapore. The economic
integration involving 16 countries with one-third of global GDP and trade will create an
integrated Asian market.

Sub questions

Question Number : 11 Question Id : 91394324308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What prompted Singapore to opt for stronger ties with India ?

Options:

0159439544, N of Cold War

SRS Economic liberalisation in India

Historical past
91394395443,

Geo-political equations
91394395444,

Question Number : 12 Question Id : 91394324309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
The commitment of Asean with India is :
Options:

e i 1alogues
150439544z More and more dialogues



Offer political platforms
91394395446,

Improving transport links
91394395447, B

Hold leadership summits
91394395448,

Question Number : 13 Question Id : 91394324310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

What is needed to encourage tourism between India and Asean ?

Options:
91394395449, AT links

91394395450 1NNOVation

Start-ups
91394395451

Waterwavs
91394395452, J

Question Number : 14 Question Id : 91394324311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
The areas of collaboration between India and Asean are :

(a) FinTech
b) Aadhaar

c¢) E-commerce

(
(
(d) Digital backwardness
(e) Trilateral highways
(

f)  Fourth Industrial Revolution

Options:

(a), (b), (c) and (d)

91334595453,

(b), (c), (d) and (e)

91334595454,

91394395455, (€), (d), (e) and (f)



91394395456, (a), (), (e) and (f)

Question Number : 15 Question Id : 91394324312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
Who can be India’s launchpad for an integrated Asian market as per the passage ?
Options:

91394395457, | hailand

Mvanmar
91394395458, -

Southeast Asia
91394395459,

Singapore
91394395460,
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Question Numbers: (11 to 15)
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Options:

Sitd I ol I

91334595441,
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2915342354435,
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Options:

913345395445, C ”é 1Y l

913345395450,
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913345395451,

913345395452,
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(@), (b), (c) ¥R (d)

913345395453,

(b), (c), (d) 3 (e)

B12334595454.

(©), (d), (e) 3T (f)

9153394235455,

(a), (), (e) 3R (f)

913345395456,
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Question Number : 16 Question Id : 91394324313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the digital era, there is a fear that classroom communication may result in :

Options:

. i
91394395461 Stimulation

913294395467 Over-stimulation

Quick adaptation
91394395463,

Passive adaptation
91394395464,
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Correct Marks: 2 WrongMarks: 0
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Options:

913345395461,

AfqUTor

2915394235462,

H133453954E3. ‘Qﬂ-a ji}
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Correct Marks: 2 Wrong Marks: 0



Non-verbal communication is considered :
Options:

s L Py
91394395465, L Tecise

913943954¢¢, INformal

91394395467, LOrmal

01394305465, —ulture-free
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3TeMfegeh WYYOT h HMHET ST € :

Options:

g2Teh

913345395465,

A=
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Negative criticism as an element of classroom communication will lead to :

(a) External sympathy (b) Justification
(c) Defensiveness (d) De-motivation
(e) Supportive listening (f) Confrontational empathy
Code :
Options:

(b), (c) and (d)

913345395469,

s1394395470. (©) (d) and (e)



91394395471, (d), (e) and (f)

(a), (b) and (c)

91334539547 %2.
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21594235472,
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Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Teacher communication is central to classroom management.

Reason (R): Teacher communication behaviours should not be used to regulate the
classroom behaviour of students.

Code :

Options:

91394395473 DOth (A) and (R) are true.

1394395474 DOt (A) and (R) are true, but (R) is not the correct explanation of (A).

s1394395475. () 18 true, but (R) is false.

1394395476 (A) 18 false, but (R) is true.
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(A) 31 (R) I 9&1 €, T (R), (A) T T2 A=A =1 2 |

913345395474,
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215394235476
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The rhetorical approach in classroom communication considers teachers as _____agents
of students.

Options:

Influencing
91394395477,

91394395478, Academic

a1394395479 Official

2l I
o1394395450. [NON-official
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If ABODE i1s coded as ADRH], then the code for AGRO will be :

Options:

llI' ™
913345395481, AVCD

91394395452, ALUS

913345395453, AIST

7
2123345395454, AIVX

Question Number : 21 Question Id : 91394324318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ife ABODE &1 ADRH] & &4 ¥ heag foan 7 8, dl AGRO &1 %2 21 :

Options:

s1394395451 2V D

913345395482, AIUS

AIST
91394395483,

91334595454, AIVX

Question Number : 22 Question Id : 91394324319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The next term in the series 0, 1, 9, 36, 100, ¥

Options:



225
91334335485 T

B1233453954586. 164

1C
123345395487, 196

913345954588,

Question Number : 22 Question Id : 91394324319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T el g Hf :
0,1,9, 36,100,

Options:

913345354585 =<

B13345395486.

H13345395487.

-
B91233453954588. 216

Question Number : 23 Question Id : 91394324320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The next term in the letter series DEF, HIJ, LMN, POR, TUV,  1is:
Options:
91394395459, WYZ

91394395490, YZA

H913345954591. XYZ

9133453954352, WXY

Question Number : 23 Question Id : 91394324320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



JUIHH G Sl G HifT
DEF, HIJ, LMN, PQR, TUV, __

Options:

913345395459, WYZ

YZA
91394395490,

91334595451, XYZ

91594395492 XY

Question Number : 24 Question Id : 91394324321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the word which is different from the rest :

Options:

91394395493, Aravali Hills

o1594395404 Onivalik Hills

lort Hille
o1394395495, (VST Hills

91394395496 Mount Kilimanjaro

Question Number : 24 Question Id : 91394324321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
STH H oHd s R 991 HIfeT

Options:

el i wRifeAl

9123345954593

913345954594

AR = et

H913845395455

913345395436



Question Number : 25 Question Id : 91394324322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Jenifer’s father-in-law is my brother. Helenis a grand-daughter of my mother. How is Helen
related to Jenifer ?

Options:

Daughter-in-law
91394395497,

Sister
91394395498,

e s
91394395490, DiSter-in-lan

1394395500, Mother

Question Number : 25 Question Id : 91394324322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ST o1 TR B W1E ® | g T A R U B g IR SR % S 9 ey 2

Options:

B123345395457. E\

9133453954398, e

qret

2915334235499,

913345395500, Hi

Question Number : 26 Question Id : 91394324323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the following, there are two statements which can’t be true together, but can be false
together. Select the code that represents them.

Statements :

(a) All poets are dreamers. (b) No poets are dreamers.

(c) Some poets are dreamers. (d) Some poets are not dreamers.
Code :

Options:

(a) and (b)

913345395501,



(@) and (d)

B13345395502.

(b) and (d)

913345395503,

(c) and (d)

913345395504,

Question Number : 26 Question Id : 91394324323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freifRa &1 o T 19 9 121 21 Hehd, fohg T W19 379 8 9% ¢ | Tl S 3 He i F9d
Exd

hdH

(a) T FHfq E=Ag=I 2 2 | (b) T HiG FHGET TE el

() TS Hd WG T 2 | (d) FS Hfa =gl 78 T ¢ |

e

Options:

(a) 3R (b)

913345395501,

(a) 3R (d)

9123345395502,

(b) 3R (d)

9123345395503,

(c) 3R (d)

9123345395504,

Question Number : 27 Question Id : 91394324324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two premises (a) and (b). Four conclusions are drawn from them. Select the
code that states validly drawn conclusion(s). [Taking the premises individually or jointly]

Premises : (a) All judges are lawyers.
(b) No doctors are lawyers.
Conclusions : (i) No lawyers are doctors.
(i) No doctors are judges.
(iti) All lawyers are judges.
(iv) Some doctors are judges.
Code :

Options:



(1) and (iii)

2915334235505,

(i) and (ii)

913345395506,

(i) and (iv)

91334535507,

913345395508, (I_I'.) and (I'.LI'.)

Question Number : 27 Question Id : 91394324324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1= < sErET fou MU E, (a) 3 (b) | Y =R feRd e €1 39 9E1 Fe #1999 L o 9y
TThY STl €1 [ SR SR 1 T 919 A1 376l oid g
IMUNETST :  (a) Gt =IATefier 9ot € |

(b) HE fafsHs a#ia T 2
R (i) E g fafdes T g
(
(
(

i)y S fafwras =iy = g

iii) Y FehieT =AY ¥ |

iv) F Tafwcs = )
<

Options:
91294335505,
91594395506,

2915334235507,

9123345395508,

Question Number : 28 Question Id : 91394324325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Under which of the conditions an argument may be valid ? Select the correct answer from
the code given below :

Statements : (a)  When its conclusion and premises are true.
(b) Even when its conclusion and one or more of its premises are false.
(c)  Only when its conclusion is true.

Code :

Options:

(a) and (c)

913345395509,

(a) alone
91394395510,

(a) and (b)

291594295511,

a1394395512. (C) alone

Question Number : 28 Question Id : 91394324325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

o aftfearfodi # v ok 99 31 Weha1 €2 9 feu T e W H | S g ¢

HIT : (a) 9 THF (TRY IR SER-TE T B € |
(b) & i S THF FTohd 3R T A1 THY ATYF YR Terd 2 © |
(c) Ta& avf v frehd w1t 2 21

G
Options:

(a) 3R (0)

215394235509,

ESE7 (a)

9123345395510,

(a) 3R (b)

91334595511,

ot ()

913345395512,

Question Number : 29 Question Id : 91394324326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Truth and falsity are attributes of :



Options:
I—"ru:.‘:plz.‘:ssi tions
91394395513,

Arguments
91394395514,

Op mnions
91394395515,

—
91394395516, Debates

Question Number : 29 Question Id : 91394324326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
=1 3R 39l fhg & o1 €2

Options:

913345395513, gﬁsﬁ:ﬁ a;
THh

2915394235514

3y &

91334595515

ae-faare &

B913845395516

Question Number : 30 Question Id : 91394324327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following can be validly inferred from the proposition - “All animals are

wild” ?
Options:

51394395517 No animals are wild.

91394395515, Some animals are wild.

91394395519 D0Me animals are not wild.

sississieny TN non-animals are wild.

Question Number : 30 Question Id : 91394324327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“geft ay) SRt 2 €' 39 wfaafa @ i B 9w 9y HeeEe @ S gehd § 2
Options:

IS Y] ST T €

913345395517

ECANEUCIEY

2915334235518

9y Sl T €

215394235519

I TR-u el T €

215394235520

Sub-Section Number: 4
Sub-Section 1d: 9139431297
Question Shuffling Allowed : Yes

Question Id : 91394324328 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 33)
Cuesticon Label | Comprehension

Data on % of villages not electrified in 6 States is given below (in the year 2000) :

State | %o of villages not electrified
A 25%
B 45%
i 20%
D 60%
E 55%
F 30%

Answer the following three questions :

Sub questions

Question Number : 31 Question Id : 91394324329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many States have atleast 50% or more electrified villages ?
Options:

91394395521 4

~y
91394395522, -



)
91394395523, <

1

913345395524,

Question Number : 32 Question Id : 91394324330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which State has twice the percentage of electrified villages in comparison to State D ?

Options:

1394395505, Otate A

91394395526, State B

91394395527, Otate C

31394395525 otate D

Question Number : 33 Question Id : 91394324331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the year 2000, the total number of villages in State D was 15,000. In the year 2010, the
total number of villages had increased to 20,000 out of which 10,000 villages were yet to be
electrified.

The % of villages not electrified in 2010 in State D has thus __

Options:

30 I
913943955249, Gone Ll[_

Come down
91394395530,

Not enoueh data
91394395531, glar < et

g
139439553, —annot be computed

Question Id : 91394324328 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 33)
Cuestion Label @ Comprehension



6 Tl § Taegdien<or § Sfad el i iaeiaal Sest sishe =9 fgu T € (39 2000 #) :

T | faerdtentor 4 dfem Tidi o6t gfagraar
A 25%
B 45%
C 20%
D 60%
E 55%
F 30%
feiferd i U9 & 3T S :
Sub questions

Question Number : 31 Question Id : 91394324329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o T4 & HH 9 FH 50% A1 ST e T fadied & 9% @ ?
Options:

91394295521, 4

)
91394395522,

P
91394395523, ©

1
91394395524,

Question Number : 32 Question Id : 91394324330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o U= § Tamgdiand Tt =61 @ &1 Yfavd D T390 & g1 8§ g7 & 2
Options:

91394395525, A

RN
91394395526,

B13345395527. e C

H13345395528. D



Question Number : 33 Question Id : 91394324331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
a9 2000 H, D T4 H T4l 1 o =1 15,000 91 FG 2010 H, 76l 1 @A 98 F 20,000 B T
off forad | 10,000 el o1 AT faegdiga foman < o)

T YR, 9 D H a9 2010 # foegdietor 4 dfeq widi & S@ &1 giaerad !

Options:

91334595529, ag Trg :g

TR

913345395530,

91334595531,

UM FE] Sl ST Hehdl

B13345395532.

Sub-Section Number : 5
Sub-Section 1d: 9139431298
Question Shuffling Allowed : Yes

Question Id : 91394324332 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (34 to 35)
Cesticn Label | Comprehiension

Data on education index in a few States is given below :

State Name| % of population below education index
A 20%
B 25%
C 23%
D 17%
B 16%
3 21%
G 15%

Answer the following two questions :

Sub questions

Question Number : 34 Question Id : 91394324333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



If the population for State F is 2.6 lakhs, what is the population below education index ?

Options:

1o i R
s1394395533. V-39 lakhs

91394395534 200 lakhs

a1394395s3s 49000 lakhs

91394395536, 51000 lakhs

Question Number : 35 Question Id : 91394324334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the total population of State A was 5 lakhs while the population in State B was 2 lakhs, the
number of people below education index will be :

Options:

Higher in State A

21594235557,

T 1 uf
91384395538, Higher in State B

91394395559 Equal in State A and B

91394395540, —aNNoLt be calculated

Question Id : 91394324332 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (34 to 35)
Cuesticon Label | Comprehiension



FS T4l o (6T gadhish el ik e fou mu ¥

<A T W | 79180 Herchich | i<l &l ATETET okl WiA9TddT
A 20%
B 25%
C 23%
D 17%
E 16%
F 21%
G 15%
frifRd ST 99 & ST T -
Sub questions

Question Number : 34 Question Id : 91394324333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gfe T F 1 STEG1 2.6 AME ¢ 1eql Y=ehish & A= &1 STErel fohal ¢ 2

Options:

.39 @@

215394235553

91394395534 0 2U0 TE

51394395535, 49000 <l

91394395536, 2 1000 <&

Question Number : 35 Question Id : 91394324334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ife TET A il el AEE] 5 g o, Siafer TF B 1 STr=ie] 2 & o, o fonen gerehien | == & <
1 &A1 BAM

Options:

91394595537, A 4

B9123345395538. y Bﬁ 3 I

91334595539, T A WB ﬁ THT



O &l T ST Fehall

B913345395540,

Sub-Section Number: 6
Sub-Section 1d: 9139431299
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394324335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A small text file stored on user’s computer by some websites in order to recognize and keep
track of user’s preferences is called :

Options:

91394595047 L1IStOTY

L-:.‘sg
91394395542,

91394395543 COOKkie

20
9123345395544, RE‘[_ ort

Question Number : 36 Question Id : 91394324335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

WA 1 WATHSHAI3 i Je9M & a9 39 W ARE T84 & &9 § Fdl JedEe gR Y& &
I H R H T Tk oY TR FlEed Feedil ¢ :

Options:

91334595541, i

91334595542,

2915342355435,

H913345395544. i 2

Question Number : 37 Question Id : 91394324336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

denotes an error in a C(]ﬂ"lplltt’.‘l’ prograin.

Options:



I = 1
91394395545, V1IUS

91394395546, DIt

Bug
91394395547,

Spam
91394395548,

Question Number : 37 Question Id : 91394324336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e U | foRt Fqfe F g B

Options:

913345395545, L

2915394235546,

Ul
Q1294395547

L2k

913345395548,

Question Number : 38 Question Id : 91394324337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The output quality of a printer is measured by :

Options:
Dieits per inch

91394395549, Bk

Dots per inch
91394395550,

Dots per cm
91394395551

Jots p
Q91394395552 L ots [_ Sl

Question Number : 38 Question Id : 91394324337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



o= 1 33T ToTE1 HId S ©

91394395549, W qid =9

913345395550, ™ ﬁ
913345395551, s

2feq gfd e

491394395552, *

Question Number : 39 Question Id : 91394324338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are audio file formats ?

(a) .wav (b) .aac (c) .wmv (d) .flv
Code :
Options:

(a) and (b)

9153342355535,

(b) and (c)

9123345395554,

(c) and (d)

291594295555,

(a) and (d)

913345395556,

Question Number : 39 Question Id : 91394324338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefafad § 9 =@ & sifedl wa wiFe €72
(a) =] TH (b) T"TH (c) SsuHdl (d) .U% T i
che

Options:

(a) 3R (b)
(b) 3R (c)

291594295555,

9153394235554,



(c) 3R (d)

913345395555,

(a) 3 (d)

913345395556,

Question Number : 40 Question Id : 91394324339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In a computer, if 8 bits are used to specify address in memory, the total number of addresses

will be :
Options:

913345395557,

2915334235558,

I~
o
o~

913345395559,
913345395560,

Question Number : 40 Question Id : 91394324339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T FgeR H, Af 8 faeg HuRl § TgH % faw Suam g €, 9 ugHi #1 Fa He e

Options:

517
91394395557, 212

2915334235558,

913345395559,

o

91334535560,

Question Number : 41 Question Id : 91394324340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The annual range of temperature in the interior of the continents is high compared to coastal
areas. What is/are the reason(s) ?

(a) Thermal difference between land and water.

(b)  Variations in altitude between continents and oceans.

(c) Presence of strong winds in the interior.

(d) Heavy rains in the interior as compared to coastal region.
Code :

Options:

(a) only
91394395561, ’

(a) and (b) only

91334535562,

(b) and (c) only

91334595563,

(a), (b), (c) and (d)

B123345395564.

Question Number : 41 Question Id : 91394324340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qeadi &3 i g | Tergrdl o il & 8 arasd i At diHn A 2l 81 SHR/IEE
HRI /e ?

(a) YfF AR T F =9 T

(b) HeEY 3R HEEIRI &I gg@ 4 fads

(c) offadt & H 1 gan =1 Sufefd

(d) dead & gord H ofiad a3 § vl 9w

s ¥ @
1304505500, P (a) 3T (b)
130405565, A (0) 3 ()
oorseeas (@) (0), (0) IR ()

Question Number : 42 Question Id : 91394324341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

How much carbon is being added to the atmosphere by burning of fossil fuels ?
Options:

91394395565, 0 = 9 billion tons

2 - 6 billion tons

91394395566,

F. - _j‘ - L.‘
1394395557 1 - 0 billion tons
9139439556 9 - 12 billion tons

Question Number : 42 Question Id : 91394324341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SETYH 249 1 ST 9 Fraray § fohdan e Fee Sl ¢ 7

Options:
6b-9 aihﬂﬂ G|
91394395565,
91394395566, 2 - 6 ToIfc <
91394395567, %= IE' <
o Iaiﬁaﬁ
91394395568, 9-12 <

Question Number : 43 Question Id : 91394324342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which part of India, the tropical Western Ghats are situated ?
Options:
51394395569, 1 UTJaD

91394395570, Rajasthan

91394395571, ("u]dmt

91394395572, Kerala



Question Number : 43 Question Id : 91394324342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I SHicaHg 9fY=y = 9rd o foeg um o fog g2

Options:

ESIE|

913345395569,

913345395570,

91294298571, I
E X!

91334535572,

Question Number : 44 Question Id : 91394324343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A source of renewable power which can be developed with minimum cost is :
Options:
91394395573, 'V ind mills

Tidal power
91394395574,

Geothermal enerovy
91394395575, J

Biomass power
91394395576,

Question Number : 44 Question Id : 91394324343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FATEHIOE ot o1 B Tord =[Aq9 &rTad 9 fashtaa fan < 9 © ¢

fae THew

913345395573,

CAEECIG I CH
Q91294395574

B913345395575. I R iﬁl El l



AETET qrar

913345395576,

Question Number : 45 Question Id : 91394324344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Natural vegetation of an area needs to be preserved for the future, mainly for the purpose

of :
Options:

i iNg SOi )SI0
1309430557 1 rEventing soil erosion

R Providing habitat for birds

Studyv by scientists
91394395579, "

I-‘mviding material for breeding new species
91394395530,

Question Number : 45 Question Id : 91394324344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol & 1 Ui faes aeafd =1 gera: Fefated 8§ 9 f59 vamsm 9 vfas & fau gfafaa fee s
i STETIHA & 2

Options:
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Correct Marks: 2 Wrong Marks: 0
The National Knowledge Commission (NKC) was established in which year ?

Options:

913345395581, 1998



913345395582, 2000

") =
21594235585, 2005

2007

2915394235584,
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Options:

19¢C
91334595581, 1998

H13345395582. 2000

g
91394395583, 2002

913345395584, 2007
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In which year Education Commission under the Chairmanship of Dr. D.S. Kothari was set
up ?

Options:

gEsp
91394395585, 12902

i
91394395586, 1999

B13345395587. 1960

100+
9153394235588, 1964
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Options:



] 2
9153394235585, 1952

913345395586, 1955

913345395587, 1960

1964
91394395588,

Question Number : 48 Question Id : 91394324347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following was launched in 2013 with the purpose to provide strategic funding
to eligible state higher educational institutions ?

Options:

s All India Council for Technical Education

91394395590, Sarva Shiksha ;’—th[}- an

SRS Rashtriya Uchchatar Shiksha Abhiyan

Rashtriva Madhvamik Shiksha Abhivan
91394395592, 2 : 2
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AT IRATT dFAreh! 19187 gRug

913345395589,

91394395590, EERNGINCIRRIE

T =gl o1eqr A9

2153394235591,

T HiegHe T91e Afva™

913345355392, >
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Correct Marks: 2 WrongMarks: 0

The University Grants Commission (UGC) was formally inaugurated on 28 December 1953
by whom among the following ?

Options:

91394395593, Mrs. Indira Gandhi

91394395594 Sh. Maulana Abul Kalam Azad

91394395595 L. S. Radhakrishnan

1 ot T g
91394395596, Dr. Rajendra Prasad
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B1334595593
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2913394235554
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B13345395596.
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The University Grants Commission has a scheme for “Human Rights and Values in
Eduaction”. Under this scheme, which statement is incorrect among the following for
‘Human Rights and Duties Education” component ?

Options:
To encourage research activities.
91394395597.
1394395505 1O develop interaction between society and educational institutions.

s 1o establish value and wellness centres in schools.



61394395600 To sensitize the citizens so that the norms and values of human rights are realised.
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Correct Marks: 2 WrongMarks: 0

After drawing on litho stone the ‘washout solution’ is spread, so that
Options:

Drawing pigment comes out and grease sets in the stone.
91334335601,

Stone gets smooth.
91324535602,

91394395603, Stone becomes more sensitive.

Drawing image is carved into stone.
913245395604,
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Options:
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Correct Marks: 2 Wrong Marks: 0
‘The Life of a Virgin’ is a
Options:

91394395605, ' oedeut

91394395608, ural

Painting
41394395607



Sculpture
913943395608,

Question Number : 52 Question Id : 91394324351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Options:

913345395605, o

913345395606, g

e fa

H1334535607.

qfd firew
91394395608,

Question Number : 53 Question Id : 91394324352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The term “Undercutting’ is a process of
Options:

Sculpture
91334335609,

Painting
91394395610.

91394395611, ' oedeut

Etching
91394395612
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913345395609,

913345395610,



913345395611,

i

215942935612,
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Correct Marks: 2 Wrong Marks: 0
Identify the Aguatint methods.

Options:

Agua dusting and D int
Q1294395612 1 8 PO

D int and Mezzotint
913943295614, vpo

Etching and Resin dusting
91334335615,

Viscosity and Collograph
Q1394395616 v grap
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Options:
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91394395613,
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Water is a common factor in printing process of
Options:

Lithography and Offset
Q1394395517 grapiy



Drypoint and Mezzotint

91394395618,
Silk screen and Collograph

91394395619, graphy

91394395620, —nocutand Wood block
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913345395617, K

313 warge IR weifee
91394395618,

21594235619, R 1 3tk
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91394395620,
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Correct Marks: 2 Wrong Marks: 0
‘Intaglic’ is a

Options:

913943935621, Name of a painting

91394395622, Colour mineral

Technique of print making
91394395625,

Printing tool
91394395624,
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Options:



913345395621, Fen 1

91334595622,

B1334595623. T T R

B13345395624.
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‘Asphaltum’ used in print making is also known as

Options:

91394395625, oon

91394395625, oumen

91394395627, Cnarceal

91394395625, i acd
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Options:
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B13345395626.
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B1334595628
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The modern Gravure technique is called ‘Photo Gravure’ because it is a combined form of

Options:

Lithography and Offset
Q1394395629 OBTAPLY

Treadle and Cylinder
91334235630,

Photography and Intaglio
91394395631 Py tag

Flexography and Photograph
Q13943956532 OBTAPLY Py
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B13345395629. " *

dea #ih fadist =
91394395630.

wieThl 3 st
91394395631
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Correct Marks: 2 WrongMarks: 0
Who wrote the book titled, “Non-Objective World” ?
Options:

Moholy-N.
Q1=29429EE22, y-Nagy

91394395634, Hazimir Malevich

91394395635, aum Gabo

er
91334595636, Hoger X1y
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Options:

Hrgedt-anft

913345395633,

wifae ferda
91394395634,

91334595635, T

I
91394395636, PR
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Correct Marks: 2 WrongMarks: 0
Who coined the term, ‘Minimal Art’ ?

Options:

91394395637, Tenri Matisse

91394395635, oonn Maxwell

91394395639, ucnard Wollheim

William Orpen
91334335640,
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Options:
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91394395637, =

913345395638, s

fr=rd dteman

913345395639,



2915334235640,
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Correct Marks: 2 Wrong Marks: 0

IMustrated manuscript ‘Tarikh-e-Khandan-e-Taimooria’ is housed in which museum ?

Options:
9139459564 Dharat Kala Bhavan — Banaras
Albert Hall Museum — Jaipur
91394395642,
Khuda Balkhsh Library — Patna
91394395643
91394395644 National Museum — New Delhi

Question Number : 61 Question Id : 91394324360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:
91394395641, | HeAl HeH - S
Fead gre TR — T
91394395642
G Y — GeAl
91394395643,
edta Tugrer — 7% et
91394395644,
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The painting titled, ‘Kurukshetra’ is painted by whom ?
Options:

91394395645, Asit Kumar Haldar

91394395646,  arivesh Sen



amini Roy
91394395647,

91394395645, | andlal Bose
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‘Fua e feel fradh w2
Options:

T FHI FAaR
91394395645,

91334535646, &

913345395647, ™

TFedTd |4
91394395648,
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‘Firka’ is a term used in the painting tradition of
Options:
91394395649, Rajasthani Miniature

Mughal Miniature
91334335650,

Patna Qalam
91324595651,

Kangra Miniature
H13345395652.

Question Number : 63 Question Id : 91394324362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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qre A feft
91394395650,

913345395651, e

Firel wgfes et

H13345395652.
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Correct Marks: 2 Wrong Marks: 0
Who wrote the book, ‘Ajanta Murals’ ?

Options:

0.C. Ganguly
91324595653,

Ajit Ghosh
91394395654,

91394395655, o Archer

A K. Coomaraswamy
91394395656,

Question Number : 64 Question Id : 91394324363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

a.af, i

913345395653,

B912334595654. K

e, o, =
91394395655,

%, FHTrEETH

H13345395656.
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Identify the main sources to understand the Indus Valley Civilization.

Options:



91394395657, COnS

Manuscripts
H1334539565E.

Inscriptions
91394395659,

Archaeological excavations
91334335660,
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Correct Marks: 2 Wrong Marks: O
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Options:

913345395657,

arogferfy

21594235658,

2915394235659,

quraTfeas IeEa

B123345395660.
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Name one of the following ideas which supported the emergence of expressionism.

Options:

91394395661, | eo-Ulassicism

9139439560, Tomanticism

2153942356635, Re

91394395664, T 2uvism

Question Number : 66 Question Id : 91394324365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



Frferfiaa 9 @ form fagia & sifiredsmam % srgga #t smeras v fon 2
Options:

Ta-geftTETe
915324335661,

H1334595662,

91334595663,

91334535664,
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Correct Marks: 2 Wrong Marks: 0
Which of the following softwares is a Drawing program ?
Options:

41394295685, Macromedia Flash

91394395666, ‘rdobeStreamline

Adobe Photoshop
91334335667,

91394295668, Adobe Illustrator

Question Number : 67 Question Id : 91394324366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Options:

H13345956E5.
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Correct Marks: 2 WrongMarks: 0

Which of the following is not an animated feature film that was nominated for the
Academy Award, 2017 7
Options:

The Shape of Water
91394395669,

91394395670, Tatatoullle

Beauty and the Beast
91394395671,

Finding Nemo
91334335672,
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Options:

g 99 3% =9
91394395669,

TATaA

B12334535670.

2 we g @R
91394395671,

wTsfeeT

2153394235672
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Correct Marks: 2 WrongMarks: 0

The best known award made of gold-plated bronze depicts a knight rendered in ‘Art-Deco’
style holding a crusader’s sword standing on a reel of film, is

Options:
91394305673, Cuo Award
91394395674, World Media Award

91394395675, Osear Statuette



91394395676, Cannes Lion Award
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Options:

913345395673,

B13345395674. e

Fieat @g-gfem
91394395675,

B13345395676,

Question Number : 70 Question Id : 91394324369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘German Art Nouveau’ is commonly known by its German name ‘Jugendstil’. The name is
taken from the artistic journal, published in Munich that espoused the new artistic
movement.

Options:

91394395677 DasPlakat

Sachplakat
21394295678,

Kulturjournal
21594235679,

Die Jugend
91394395680,
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Options:

TEThe
B1334535677. i



B13345395675.

21594235679,

<% Ti-e

2123345395680,

Question Number : 71 Question Id : 91394324370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
Which graphie designer wrote the book ‘A Designer's Art’ 7

Options:

9139439561, oreven Heller

9139439560, ten Glaser

91394395653, 2ulRand

91394395634, 1 2ula Scher

Question Number : 71 Question Id : 91394324370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E=iCC
91394395681 &R

91394395682, 1 °C e

H1334595683. T

H913345395684.
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Correct Marks: 2 Wrong Marks: 0

The 853 feet high building of the ‘Transamerica Corporation’, in the San Francisco skyline
iz depicted in the company's logo which is designed by the architect

Options:



91394395655, Custave Eiffel

91394395656, ' uam Pereira

91394395657, OU Leter Scott

Frédéric Auguste Bartholdi
91394395688,
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Options:

TEATd HTFHe

913345395685,

913345395686, FRa

913345395687, e e
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Correct Marks: 2 Wrong Marks: 0

A system facilitates the production of camera-ready artwork by mixing text with other
visual materials :

Options:

91394395689, Crolle

Numerical Notation System
9132453395630,

913345956591, bTP

91394395690 Software
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Options:

B123345395689.

B913345395630.

291594235691, g4,

91334535632,

Question Number : 74 Question Id : 91394324373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
Which famous movement emerged with Collage and Photomontage as favoured techniques ?
Options:

91394395693, D2da

91394305604, Surrealism

Psychedelia
913943356395,

De Stijl
91394395696,

Question Number : 74 Question Id : 91394324373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

THEIET TR o T H et AL BIEHICS & 1Y P8 WHG ATGIEE F IGHT AT 41 2

Options:

913345395693, i

9133453956594,
H133453956%55,

z fee
91394395696,



Question Number : 75 Question Id : 91394324374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Kiln-drying and air-drying are two expressions associated with
Options:

Preparation of a clay body in ceramic
91394295697,

The process of de-waxing in casting of metal works
291394295698,

Process of de-absorption of moisture of clay body by firing
91394295693,

Seasoning of wood for woodworks
91394235700,

Question Number : 75 Question Id : 91394324374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
feret-gri o wa-grdn <t sifireafral § ot dag &

Options:

9139439559, U A W dan F &

i Ffaat i wfeen 9 <-afFan 6 wfwn @
91394395698, e

#1es Hfet &g wss i dafm @
91394395700, %ﬁ

Question Number : 76 Question Id : 91394324375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘The Triumph of Labour’, 1959 by Devi Prasad Roy Choudhury is a public sculptural
composition showing

Options:

A set of boatmen struggling with their boat in a stormy river.
91394295701,

A set of farmers cultivating a piece of land.
291394295702,

A set of masons toiling hard to lift a huge piece of stone.
215394235703,



A set of fishermen pulling their fishing nets.
91394335704,

Question Number : 76 Question Id : 91394324375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“g Traeh e daU 1959 # St wHTE T Stadt G S T Uk raeth qfdeeen Gt St
gt

Options:

91394395701, 1 T TE THF T H S A H T R T

ferami F o
91394395702, 1 T E Y H T gH REA F@E

913294295703 reifirft "WEWW#Wﬁgﬂ%ﬁﬁﬁﬂmmmﬁﬁl

91394395704, O F T W A HOA T F A G @ R

Question Number : 77 Question Id : 91394324376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which early modern Indian sculptor, based in Delhi, was known for his geometric and
structural composition ?

Options:

Dhanraj Bhagat
291394295705,

B.C. Sanyal
21594235706,

Pradosh Dasgupta
Al 294295707, P

Mrinalini Mukherjee
913942935708,

Question Number : 77 Question Id : 91394324376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fewet & @@t form wifirer amgfes wedta gfden =t 3ot sarfirdta sit SoamTers @ % foe s
HrAT R ?

Options:

913345395705, i



2915334235706, .4

Er SETH
91394395707

oot e

2153942357085,

Question Number : 78 Question Id : 91394324377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Ballerina” iz a seulpture by
Options:

Brincusi
9133453957039,

Degas
91394395710,

Kandin
913345395711, o

Henry Moore
913245335712,

Question Number : 78 Question Id : 91394324377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Feifer gqfd forass gro st mE & 2
Options:

A

2915334235709,
21594235710,

9153394235711,

LS

9123345395712

Question Number : 79 Question Id : 91394324378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An early process of ultra-defined clay slip applied thin on bone dry earthenware to achieve
a soft sheen/polish to the extent of high gloss is

Options:



91394395713, Srellac

treated and pigmented bee's wax
H13345395714.

terra sigillata
91394295715, gill

91394395716, melamine

Question Number : 79 Question Id : 91394324378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

& i < i T ggE I W 0 o fo 9 g svedEeR w e e steg-fewree w9 R
& gad ynfers uf §

Options:

913345395713,

frmifes s d=a
91394395714, ez s

91334535715, %

HeATHTEH

2915334235716,

Question Number : 80 Question Id : 91394324379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Projection of enlarged, larger than life images of banal objects was a significant feature of
the sculptural practices among

Options:

Pre-war European Surrealists
913245335717,

Post-war American pop artists
B13345395718.

The early Dadaists
91394395719,

Modernist Swiss sculptors
91334335720,

Question Number : 80 Question Id : 91394324379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Tes Teg Al =i 991, avdfas ofa @ ft @21 foam Frafafaa 4 @ fea gfdsen Ofa 6 gea fagwm
ot 2

Options:

qg-0d girfr emefard

21594235717,

gt sferT g werhn
91394395718,

arifre grerETe
91394395719,

| Frgfedrarsl feaa qfdan

215394235720

Question Number : 81 Question Id : 91394324380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Content of the book ‘When Was Modernism’, by Geeta Kapoor,

Options:

41394395701 Deals with the success and failure of modern art in India

Shows the advent of modernism through abstract art in India
913942395722,

Locates modernism in contemporary art practices in India
291394295723,

Compares elements of Western modernism with modernism in the sub-continent
91394295724,

Question Number : 81 Question Id : 91394324380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ftat S it 91 e AT wisfe i fawa-ag

Options:
91394395721, ured 3 3ngfi e H aHer R srEwdr @ dafa @
91394395722, W # 37 e % Hrem & sy % g Fi quidt @

o g et & smyfrerararg Tt
91394395723, e w t



ofredft smyfrerararg & gewi 6t gaT Iumerd % snyfrwdararg d st §

913345395724,

Question Number : 82 Question Id : 91394324381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

During the 1970s, one of the pioneer and leading exponent of abstract art from the
occident, who derived inspiration and spiritual nourishment from the oriental art is

Options:

91394395705, Chuck Close

Hans Arp
91324535726,

Jasper Johns
91394395727,

9139439570g, ric Gill

Question Number : 82 Question Id : 91394324381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

1970 % T o S0 TfTEH B 3 el * T 9gvey A st sfafafy fags o e @ tron
it ameanfaire g s fom —

Options:

913345395725, B

wia i

913345395726,

913345395727,

ufts i
91394395728,

Question Number : 83 Question Id : 91394324382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Black Painting is the name given to a group of paintings from Europe in the 19 century.
Who painted them ?

Options:

Francisco de Goya
291394295729,



91394395730, Honoré Daumier

91394395751 Ldouard Manet

Edgar Degas
91394395732,

Question Number : 83 Question Id : 91394324382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1941 yraredt # e & Al g U % i w6t ot RS g mn R 1 3 feee el off 2
Options:

swiferesht gt T
91394395729,

T gt

91334535730,

TgaTq A

21594235751,

TS M
91394395732,

Question Number : 84 Question Id : 91394324383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who painted the famous painting “Laughing Cavalier” in the 178 century ?

Options:

91394395733, Jan Steen

91394395734, 1 rans Hals

91394395735, Sonannes Vermeer

91394395736, tomprandt

Question Number : 84 Question Id : 91394324383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
17 wraredt # wftrg fom “enfen Safer’ fapaa aamm o 2

Options:



9153394235755, Rk

TH ETed
91394395734

drgrE @t

H13845395735.

21594235756,

Question Number : 85 Question Id : 91394324384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is a Sarvatobhadra-style temple ?

Options:

Parvati Temple at Nachna-Kuthara
91334535737,

Brick Temple at Bhitargaon
91394395738,

Dashavatar Temple at Deogarh
91334335739,

Kankali Devi Temple at Tigawa
91324335740,

Question Number : 85 Question Id : 91394324384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafafiga 4 & adatyg St & afg Fhme 2

Options:

Te1-For o et wifex
91394395737

Hiqoria Bm w1 |
91394395738, ¥ 1 R

Zang e gamaan wfex
91394395739,

913345395740, ot ol st

Question Number : 86 Question Id : 91394324385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Madarsa of Mahmud Gawan is an excellent example of regional Indo-Islamic
architecture under Bahmani Sultanate. Where is this monument located ?

Options:
91394395741, Dlar

Bijapur
91334335742,

Aurangabad
913345395743,

Gulbarga
Q1294295744 e

Question Number : 86 Question Id : 91394324385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HEHS TTal 1 HETHT ATEHTHT Hoaad o A-aiid &ETa WIG-gEeTTiieh AT Hell 1 A5 IET 7 | I8
T e fod 7 ?
Options:

B9123345395741. Rt

91334535742,

9153342357435,

et

9123345395744,

Question Number : 87 Question Id : 91394324386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Name the archaeologist, who discovered the ruined Buddhist monastery of Miran in Central
Asia.

Options:

Sir Alexander Cunningham
91594395745,
91394395746, it Aurel Stein

91394395747, S John Marshall



91394395745, ocpastian Stride

Question Number : 87 Question Id : 91394324386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

39 qurdeEa & T w0 g e we ofirn § fiem & dtg wEt % srauei @ i ot 2
Options:

T ATRASt Hium
91394395745,

T e =
91394395746,

913345395747, W I

Hafes w13
91394395748,

Question Number : 88 Question Id : 91394324387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who is the author of the book ‘Glory of Indian Handicraft*?

Options:

Ajit Mukherji
91394395749,

Kamaladevi Chattopadhyay
91334235750,

Kapila Vatsyayan
913943295751, P tsyay

Aditi Ranjan
9132453395752,

Question Number : 88 Question Id : 91394324387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Al a1 3eaA AR’ TEawh % oEd HH § 7

Options:

e gt

2915334235749,

FHATCH! TS
91394395750,



9153394235751,

Ffedt =

21594295752,

Question Number : 89 Question Id : 91394324388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The ArcelorMittal orbit is a 114-5 metre high sculpture and observation tower in Stratford,
London. Who designed it ?

Options:

Paige Bradley
91334335753,

91394395754, 2enos Frudakis

91394395755, Druna Catalano

Anish Kapoor and Cecil Balmond
291334335756,

Question Number : 89 Question Id : 91394324388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

srdat-firre ifie Hewld, de & e 114-5 e Ft qff of Iver 2w @ 1 72 R feads
fomt 2

Options:

21594295755, =

WG perfen

913345395754

AT heTerrt
91394395755,

et L oih dftre aremte
91394395756,

Question Number : 90 Question Id : 91394324389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Based on dialects, who gave the principle of triad thesis, antithesis and synthesis ?

Options:



Baumgarten
91394395757,

91394395755, | mmanuel Kant

91394395759, rearl Marx

Hegel
91334535760,

Question Number : 90 Question Id : 91394324389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gaare % smun W fre wa-fag — srufq are, wftarg it darg * fagra fam 2

Options:
21394295757,
ST Hie

91394295758,

91394295759, e

91394295760,
Sub-Section Number: 2
Sub-Section 1d: 9139431301
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 91394324390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the following :
(a) Planography (i) Textured material iz adhered to the printing matrix

(b) Stencil (ii) Method of block printing
(c) Collography (iii) Ink is pressed through a screen
(d) Wood cut (iv) Matrix retains its surface
Code:

Options:

(a)—1), (b)-11), (e)—iv), (d)—l1ii)
91394395761,



(a)(iv), (b)—(iii), (e)~(1), (d)—(ii)
91394395762,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
912394395763,

(a)—(iii), (b)—(ii), (e)—(i), (d)—iv)
B913345395764,

Question Number : 91 Question Id : 91394324390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiga 1 frem Hifsm

(a) TEAITE (i) gt amft fifFe war woen it @
(b) = (ii) =t fuf=dn & fafa

() Aoy (i) Tk Th & Tt gang St 8

(d) 98 e (iv) &fewa soft wag +t a9 wdt 2

He
Options:

(a)—(i), (b)ii), (e)—(iv), (d)(iii)
91234295761,

(a)—iv), (b)—(iii), (e)—i), (d)—(ii)
H13345395762,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91334335763,

(a)—iii), (b)(id), (e)—(i), (d)—{iv)
91234235764,

Question Number : 92 Question Id : 91394324391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the following :
(a) 1513 AD (i) Etching
(b) 1380 AD (i) Offset
(e) 1906 AD (iii) Paper
(d) 105 AD (iv) Woodcut
Code:

Options:

(a)—(1), (b)—(iii), (c)—{iv), (d)—(ii)
91334335765,

(a)ii), (b)—(iv), (e)—(i), (d)iii)
91234335766,



(a)—{iv), (b)id), (e)—(i), (d)—iii)
91334335767,

(a)—(ii), (b)—(i), (e)—(iii), (d)iv)
91234395768,

Question Number : 92 Question Id : 91394324391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frafafiga 1 e fifsw
(a) 1513 St (i) ufem
(b) 1380 Fe=ft (ii) WATHEE
(¢) 1906 Feit (iii) ¥
(d) 105 &=t (iv) g

H:
Options:

(a)—(1), (b)(iii), (e)—{iv), (d)—(ii)
91334335765,

(a)—ii), (b)—(iv), (e)—(i), (d)iii)
91234395766,

(a)—iv), (b)—(ii), (e)—(i), (d)—(iii)
H1334535767.

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
91334335768,

Question Number : 93 Question Id : 91394324392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the following :

(a) Photomontage (i) Michelangelo
(b) The Agony and the Ecstasy (ii) John Heartfield
(¢) Found Objects (iii) Duchamp
(d) Lust for Life (iv) Van Gogh
Code:
Options:
(a)—(ii), (b)—(1), (e)—(iii), (d)—(iv)
21394295769,
91394395770, (a)—(i), (b)—{iii), (e)=(iv), (d)—(ii)

(a)—iv), (b)id), (e)—(i), (d)iii)
91394395771,



(a)—ii), (b)—(iv), (e)—(i), (d)—iii)
91334335772,

Question Number : 93 Question Id : 91394324392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Freferfaa + firem ifae .
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%
Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
91334235769,

(a)—(1), (b)(iii), (e)—{iv), (d)—(ii)
91334335770,

(a)—iv), (b)—(id), (e)—(i), (d)—iii)
91394395771,

(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
B1334535772.

Question Number : 94 Question Id : 91394324393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the following :
(a) Anupam Sud (i) Dhvani Siddhanta
(b) Anand Vardhan (ii) Painting
(¢) Abhinav Gupt (iii) Print Making
(d) Amrita Shergil (iv) Rasa Siddhanta
Code:

Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)-iv)
9123942395773,

(a)—i), (b)—(iii), (e)—(iv), (d)—(ii)
913345395774,

(a)—iv), (b)—(id), (e)—(iil), (d)~(1)
91334335775,

(a)—(iii), (b)~(1), (e)-liv), (d)—(ii)
91334335776,



Question Number : 94 Question Id : 91394324393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frefefiaa =1 firem $ifew

(a) I HE () eaf figea
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®e
Options:

(a)ii), (b)-1), (e)Liii), (di-iv)
91394395775,

(a)—(i), (b)—iii), (e)—{iv), (d)—(ii)
91394395774

(a)—iv), (b)—(ii), (e)—(iii), (d)—(1)
91334535775,

(a)—(iii), (b)), (e)—iv), (d)—(ii)
91394395776,

Question Number : 95 Question Id : 91394324394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match the following artists with their places :

(a) J. Swaminathan (i) Delhi

(b) N.S. Bendre (ii) Bhopal

() K.G. Subramanyam (iii) Shantiniketan
(d) B.C. Sanyal (iv) Baroda
Code :

Options:

(a)=(i), (b)—iii), (e)—iv), (d)—(i1)
913943395777,

(a)—(ii), (b)—iv), (e)—(iii), (d)—(1)
913345395778,

(a)—iii), (b)—(i), (e)—(ii), (d)—(iv)
9133453395779,

(a)—(ii), (b)—(iii), (e)—(i), (d)—iv)
91394395780,

Question Number : 95 Question Id : 91394324394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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®e
Options:

(a)—(1), (b)(iii), (e)—iv), (d)—(ii)
915394395777,

(a)ii), (b)—(iv), (e)-iil), (d)~(1)
91324295778,

(a)—(iii), (b)—(1), (e)-{ii), (d)~(iv)
91334335779,

(a)—ii), (b)—(iii), (e)—(i), (d)—iv)
91234295780,

Question Number : 96 Question Id : 91394324395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the following :
(a) Colour Field Painter (i) Susanne Langer
(b) Aesthetician (ii) Henri Rousseau
(e) Frottage (iii) Max Ernst
(d) Naive Art (iv) Jackson Pollock
Code:
Options:
(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
91394395781,
(a)—(iii), (b)—(id), (e)~(i), (d)~(iv)
913942395782,
(a)—(i), (b)—(ii), (e)—(iv), (d)—(iii)
21394295783,
(a)—(iv), (b)—(i), (e)—(iii), (d)—(ii)
91594395754,

Question Number : 96 Question Id : 91394324395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frefafiga # firem $ift
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(b) Htegd wmeht (i) &l ==

(e) WiaTa (iii) AT TR
(d) ¥5a 3 (iv) FFEA et
E :
Options:
(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
91394395781
(a)—(iii), (b)—(ii), (e)—(1), (d)—(iv)
91394395782,
(a)—(1), (b)—(ii), (e)~(iv), (d)—{iii)
91394395783,
(a)—(iv), (b)—(i), (e)—(iii), (d)—(ii)
91394395784,

Question Number : 97 Question Id : 91394324396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the following artists with their art works :
(a) Jatin Das (i) BahurupiII
(b) K.G. Subramanyam (ii) Surya Namaskar
(c) Tyeb Mehta (iii) Blue Night
(d) M.F. Hussain (iv) Mahishasura
Code:

Options:

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
913343395785,

(a)—(iii), (b)—(iv), (e)(ii), (d)—(i)
91234295786,

(a)—i), (b)—(ii), (e)—~(iv), (d)—(iii)
B1334535787.

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91334335788,

Question Number : 97 Question Id : 91394324396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Praferfiaa semert & faem et $fi & Hifo .
(a) Wfe T4 (i) =gEd 11

(b) %%, gamfirm (i) g FoeFR

(c) Fea Tgal (iii) o] AT

(d) T.T%. g (iv) wfEeTE

®e
Options:

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91594395785,

(a)—(iii), (b)—(iv), (e)(il), (d)—i)
913342395736,

(a)—(i), (b)—ii), (e)—(iv), (d)—(iii)
91334335787,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394395788,

Question Number : 98 Question Id : 91394324397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the following :
(a) Pop Art (i) Yves Tanguy
(b) Surrealism (i) Smithson Robert
(c) Minimal Art (iii) Andy Warhol
(d) Rayonism (iv) Larionov
Code:
Options:
(a)—(iii), (b)(id), (e)—(iv), (d)—(1)
91394335759,
(a)—iv), (b)—(iii), (e)i), (d)—(ii)
91394335790,
(a)—(iii), (b)—(1), (e)(ii), (d)—(iv)
215394235791,
(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
91594395792,

Question Number : 98 Question Id : 91394324397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr=fafiga =1 firem ifau -
(a) 919 2 (i) Za9 Trrd

(b) Aferemefar (i) fereEm dad
() Hifme and (iii) T} amEE

(d) i (iv) ST
% :
Options:
(a)—(iii), (h)—(ii), (e)-{iv), (d)—i)
91394395789,
(a)—(iv), (b)—(iii), (e)=(i), (d)—(ii)
21394295790,
(a)—(iii), (b)—(1), (e){ii), (d)—(iv)
91394395791,
{a)—ii), (h)—(iv), (e)-(iii), (d)—(i)
91394395792,

Question Number : 99 Question Id : 91394324398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the following names with the genres/movements :
List I List IT
(a) Theo van Doesburg (i) Neoplasticism, Netherlands
(b) Ludwig Hohlwein (ii) Plakatstil, Berlin
() Hans Rudi Erdt (iii) Die Jugend
(d) Shepard Fairey (iv) Pop
Code:

Options:

(a)—iv), (b)—(iii), (e)—ii), (d)—(i)
H13345395793.

(a)—(i), (b)—{ii), (e)—(iii), (d)—(iv)
91334235734,

(a)—ii), (b)—(iv), (e)-iil), (d)—~1)
91234395735,

(a)-iil), (b)—(ii), (e)—{iv), (d)—~1)
91594395796,

Question Number : 99 Question Id : 91394324398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frferfiaa amt &1 firam st Seft/an<iem @ $ifm ;
et 1 i

(a) forlt F Sromert () FeenfRfa, fewvea

(b) gefam gfeargs (i) cemwefEw, afeq

(c) 78w T (iii) S/ Fwe

(d) 398 Sl (iv) 9fq
% :
Options:
(a)—iv), (b)—(iii), (e)(ii), (d)—(i)
21394295793,
(a)—(i), (h)—(ii), (e)—(iii), (d)—(iv)
91394295794,
(a)—ii), (b)—(iv), (e)—(iii), (d)—(1)
9139423957935,
(a)—(iii), (b)—(ii), (e)—iv), (d)—(1)
291394295796,

Question Number : 100 Question Id : 91394324399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match the following :

(a) William Morris (i) Bauhaus
(b) Marcel Duchamp (ii) Art Nouveau
(e) Alphonse Mucha (iii) Anti-art
(d) Ludwig Mies van der Rohe (iv) The Arts and the Crafts movement
Code:
Options:
(a)—(iv), (b)—(iii), (e)ii), (d)—(i)
9139423357937,
(a)—iv), (b)—(ii), (e)—(iii), (d)—(D)
291394295798,
(a)—(i), (h)—(ii), (e)—(iii), (d)—(iv)
21394295799,
(a)—(ii), (b)—(iii), (e}—~(1), (d)~iv)
91394235200,

Question Number : 100 Question Id : 91394324399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefefiga 1 firem $ifem

(a) faferm Hifa (i) @THEEH

(b) WHEe g (i) 1 &t

(c) ATeHIF qIT (iii) T&-21E

(d) gafeam s ¥ TR (iv) T A W g FRY qEE

&
Options:

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394395797,

(a)—iv), (b)—(iD), (e)—(iil), (d)~(1)
913342395738,

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91334335739,

(a)—ii), (b)—(iii), (e)—(i), (d)—iv)
91234295500,

Question Number : 101 Question Id : 91394324400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the following :
(a) Serif (i) Reprography
(b) Halftone (i) Typography
(e) Exposure (iii) Newspapers
(d) Gutters (iv) Photography
Code:
Options:
(a)—(iv), (b)—(iil), (e)ii), (d)—(D)
91394335801,
(a)—(iii), (b)—(iv), (e)i), (d)—(ii)
913943935802,
(a)—(ii), (b)—(1), (e)—(iv), (d)—(iii)
215394235803,
(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
915942395504,

Question Number : 101 Question Id : 91394324400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frfafiga #1 firem $ife

(a) Gf® (D) Y9t
(b) BTHEHA (i) ZTeqraThY
(e) THEGAL (iii) THMET 95
(d) med (iv) RreraTEr
E:
Options:
(a)—{iv), (b)—(iii), (e)—(ii), (d)—(i)
91394395801
(a)—{iii), (b)—(iv), (e)—(i), (d)—(ii)
91394395802,
(a)—{id), (b)—(i), (e)~(iv), (d)—(iii)
91394395803,
(a)—{i), (b)—(ii), (e)—(iii), (d)—(iv)
91394395804,

Question Number : 102 Question Id : 91394324401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match the Global Super brands with their celebrated symbols :

List I List IT
(a) Mitsubishi Corporation (i) A Speedbird
{(b) Thames and Hudson, U.K. (ii) A Diamond

(e) Columbia Broadeasting System, U.S.A. (iii) An Eye
(d) British Overseas Airways Corporation (iv) Dolphins
Code:

Options:

(a)—(ii), (b)—(iv), (e)—(iii), (d)—i)
H13345395805.

(a)—(iv), (b)—~(1), (e)—{ii), (d)—(iii)
91334235506,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234235807,

(a)-ii), (b)—(iv), (e)—(i), (d){iii)
91594295808,

Question Number : 102 Question Id : 91394324401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafafiaa 3fvas gu avea 1 fram 37 firg st & oy $ifsw

LSl T I
(a) firegfasht wraitem (i) wiewd
(b) ¥q e FSEH, L%, (ii) &

(c) e steween fieen, 9.w8.0. (i) i@
(d) fofem offeefts was FiwiEA (iv) i@

Fe:
Options:

(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
913345395805,

(a)—(iv), (b)—~(1), (e)—(ii), (d)—(iii)
91334335806,

(a)—(i), (b)—ii), (e)—(iii), (d)-iv)
91234235807,

(a)-ii), (b)—(iv), (e)—(i), (d){iii)
912394395508,

Question Number : 103 Question Id : 91394324402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match the following :
(a) Metal casting (i) Ebony
(b) Stone carving (i) Epoxy
(c) Wood carving  (iii) Basalt
(d) FRP casting (iv) Bees wax
Code:

Options:

(a)—ii), (b)—(iid), (e)-{iv), (d)—~1)
913943955089,

(a)—iv), (b)—(1), (e)—(ii), (d)—(iii)
91394395510,

(a)—(ii), (b)—(i), (e)-(iii), (d)—(iv)
H913345395811.

(a)—(iv), (b)—(iii), (e)—~(i), (d)—(ii)
91394395512,

Question Number : 103 Question Id : 91394324402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefefign 1 firem Fifae

(a) fea Hifeen (i) wErt

(b) T Hfdm (ii) et

(c) g8 wifdn (iii) wrETEE

(d) w3, FIET (iv) dre-da (vg =)

®e
Options:

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
91394395809,

(a)—(iv), (b)—(1), (e)—(ii), (d)—(iii)
913342358510,

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
913343358511,

(a)—(iv), (b)—(iii), (e)-(i), (d)—(ii)
91394395812,

Question Number : 104 Question Id : 91394324403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the following :
(a) Lorenzo Ghiberti (i) The Back -1, II, III, IV
(b) Michelangelo (ii) Torso of a Young Man
(¢) Constantin Brincusi (iii) The Gates of Paradise
(d) Henri Matisse (iv) The Dying Slave
Code:
Options:
(a)—(iii), (b)—(iv), (e)ii), (d)—(D)
91394395813,
(a)—(iv), (b)—(ii), (e)—(i), (d)—(iii)
91394295514,
(a)—(ii), (b)—(1), (e)(iii), (d)—(iv)
291394295815,
(a)—(i), (b)—{iii), (e)=(iv), (d)—(ii)
915943395516,

Question Number : 104 Question Id : 91394324403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr=fefiga = firem $ifsm
(a) @i=ar fer (i) TR -1 10, 101, IV
(b) HTgheTdaret (ii) ZrEt 3776 31 97 &9

(¢) HI-HSTLEA FFHHT (i) T i@ 31 Horemga
(d) &t wferm (iv) T 3141 ¥

®e
Options:

(a)—(iii), (b)—(iv), (e)—(ii), (d)—(i)
915943395813,

(a)—iv), (b)—(id), (e)—(i), (d)(iii)
913324235514,

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
913343358515,

(a)—(1), (b)(iii), (e)-iv), (d)—(ii)
9123423958516,

Question Number : 105 Question Id : 91394324404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the following :
(a) Pre history (i) Pyramids
(b) Egypt (ii) Basilica of Constantine
(e) Greece (iii) Venus of Willendorf
(d) Rome (iv) The Parthenon
Code :
Options:
(al—i), (h)—(iv), (e)—(iii), (d)—(ii)
Q1594295817
(a)—(iv), (h)—(ii), (e)-(iii), (d)—(i)
Q1594239581 8.
(a)—ii), (b)—(iii), (e)—(1), (d)—(iv)
Q12943955819
(a)—(iii), (h)—(1), (e)—(iv), (d)—(ii)
A13942395520.

Question Number : 105 Question Id : 91394324404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafafiga 1 faem $ifs
(a) 3foema @ (i) frfie

(b) firg (ii) =faferm e weTeEA
(e) ota (iii) dr78 1% faems=e
(d) T3 (iv) g g
E :
Options:
(a)—{i), (b)—(iv), (e)—(iii), (d)—(ii)
91394395817,
(a)—(iv), (b)—(ii), (e)—(iii), (d)—(i)
91394395818,
(a)—(ii), (b)—(iii), (e)—(1), (d)—(iv)
91394395819,
(a)—{iii), (b)—(1), (e)—(iv), (d)—(ii)
91394395820,

Question Number : 106 Question Id : 91394324405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match the following :
(a) Philip King (i) Secottish Sculptor
(b) Otto Freundlich (ii) French Sculptor
(c) Eduardo Paolozzi (iii) English Sculptor
(d) Henri Laurens  (iv) German Sculptor

Code :
Options:

(a)—ii), (b)—(iid), (e}—(iv), (d)~1)
91394395521,

(a)—(iii), (b)—(iv), (e)-i), (d)—(ii)
91534395822,

(a)iv), (b)—(i), (e)—(ii), (d)—(iii)
H1334595823.

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
913343395524,

Question Number : 106 Question Id : 91394324405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Prferfiaa =1 firem Hifor :

(a) fefera fm (i) whifen qfdwr
(b) 3t wisfoa (ii) %= Afer
(c) Ugael wiFeatet (i) §fer Hfden
(d) &t wie| (iv) s gfdfan

®e
Options:

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
913945395821,

(a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
91334295522,

(a)iv), (b)—(1), (e)—{ii), (d)—(iii)
913343395823,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234295524,

Question Number : 107 Question Id : 91394324406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the following :
(a) Didarganj Yakshi (i) Gupta Period
(b) Vishnu temple of Airan (ii) Mauryan Period
(c) Statue of Kanishka (iii) Bronze Age
(d) Dancing Girl of Mohenjo-daro (iv) Kushan Period
Code:

Options:

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
913343395825,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
912343958526,

(a)—ii), (b)—(i), (e)-(iii), (d)—iv)
B13345395827.

(a)—ii), (b)—(iv), (e)—(i), (d)—(iii)
913343395528,

Question Number : 107 Question Id : 91394324406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frfafiga #1 firem $ife

(a) drerrTa Faft (i) TH
(b) wor 1 fawp wfgr (i)
(c) s it qfd (iii) *reF g
(d) Higaiget it TP (iv) FA1 FA

®e
Options:

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91594395825,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334295526,

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
913343395827,

(a)—ii), (b)—(iv), (e)—(i), (d)iii)
91234395828,

Question Number : 108 Question Id : 91394324407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the following :
(a) Musée Guimet (i) Amsterdam
(b) Hermitage Museum (ii) Paris
(¢) Rietberg Museum (iii) St. Petersburg
(d) Rijksmuseum (iv) Ziirich
Code:

Options:

(a)—ii), (b)—(iid), (e}—(iv), (d)~1)
91394395523,

(a)—(1), (b)(iii), (e)-iv), (d)—(ii)
91234295820,

(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
913345395821,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
913343395532,

Question Number : 108 Question Id : 91394324407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frfafiga #1 firem $ife

(a) VI3 T (i) TELEH
(b) efifars gugrerm (i) fE
(c) Teanf gugrerd (i) He dredant

(d) T§m TyEre™ (iv) sgfwE
% :

Options:

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
913945395829,

(a)—(1), (b)(iii), (e)—iv), (d)—(ii)
913342395530,

(a)—ii), (b)—(iv), (e)—(i), (d)—iii)
91234335821,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394395632,

Question Number : 109 Question Id : 91394324408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the following :
(a) Bishandas (i) Surrealism
(b) Joan Miré (ii) Reclining Figures

{e) Gustave Courbet (iii) The Painters Studio
(d) Henry Moore (iv) Mughal Portraits
Code :

Options:

(a)—{iv), (b)(id), (e)-(iil), (d)~1)
91394395835,

(a)—(iv), (b)—(1), (e)-{iii), (d)—(ii)
91394395534,

(a)—i), (b)—(ii), (e)-(iii), (d)—iv)
91334595835,

(a)—ii), (b)—(iv), (e)—(i), (d)—(iii)
913343395536,

Question Number : 109 Question Id : 91394324408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frfafiga #1 firem $ife

(a) femrem (i) wfifesm
(b) =t firt (i) fraremmsfim fem
(¢) TEATE Fd (i) g ¥eed wgfet
(d) &t @ (iv) T e
% :
Options:
(a)(iv), (b)—(ii), (e)(iii), (d)—(i)
91394395833
(a)—(iv), (b)—(1), (e)—(iii), (d)—(ii)
91394395834,
(a)—(i), (b)—(ii), (e)~(ii), (d)—(iv)
91394395535,
(a)—(ii), (b)~(iv), (e)—(1), (d)—iii)
91394395336,

Question Number : 110 Question Id : 91394324409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match the following :

(a) Susanne Langer (i) Venus of Urbino
(b) Lysippos (ii) Print making
(c) Krishna Reddy (iii) Sculpture

(d) Titian (iv) Aesthetics
Code:

Options:

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
913343395837,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
91234395838,

(a)—(iii), (b)—(iv), (e)(ii), (d)—i)
H13345395829.

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91334235540,

Question Number : 110 Question Id : 91394324409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frfafiga #1 firem $ife

{a}l":'[:gﬁﬁ"l'{
(b) wsfiredrs

(c) Foom tgEt
(d) fefirm

% :

Options:

B13345395837.

215394235858,

913345395829,

913345395840,

Question Number : 111 Question Id : 91394324410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

(a)—(i), (b)—(ii), (e)—(iii), (d)~(iv)

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)

(a)(iii), (b)—(iv), (e)(il), (d)—(1)

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)

Sub-Section Number: 3
Sub-Section I d: 9139431302
Question Shuffling Allowed : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Identify the correct sequence of process.

Options:

91334595841,

B13345395842.

215942358435,

91334595544,

Question Number : 111 Question 1d : 91394324410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Impression, Ink the block, Carved with tools, Wood block polish

Wood block polish, Carved with tools, Ink the block, Impression

Ink the block, Carved with tools, Wood block polish, Impression

Carved with tools, Ink the block, Wood block polish, Impression

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

afske % TEt s il TEeE Hifag

Options:



B, TeAish T ETEl 1, HSH & Iehivl T, F158 Fefsh Sl FSHHEl
91394395841

FI58 Fefeh =l SHHMI, HISAT T Iehivl 1, wefieh T HTE o1, B
91394395842,

Teteh I TRl AT, A @ IehIol i1, SHIsS Seiieh i SHEMI, BT
91394395843,

HtAT & Ieshivl i1, Telieh T TRl 1, Hisd seiieh shl SHERMI, BT
91394395244,

Question Number : 112 Question Id : 91394324411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Select the correct chronology of the periods of Indian art.

Options:

Bengal revivalism, Com inting, ssive groups, Sculptors
91394395845 B pany painting, Progressive groups, Sculp

Progressive groups, Bengal revivalism, Com painting, Sculptors
Q12942955846 BrOUps 8 pany & P

Sculptors, Progressive groups, Bengal revivalism, Com paintin
Q1594295847 P groups & pany &

Com painting, Bengal revivalism, Progressive groups, Sculptors
Q15943955848 pany g g Broups P

Question Number : 112 Question Id : 91394324411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
WA hell =it 79l & T8 Ficthn H1 9949 Hifaw |

Options:

91394395845, A

91394395846, A

91394395847, i, S

91394395848, e

Question Number : 113 Question Id : 91394324412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Select the correct sequence of techniques in order of invention.

Options:

Metal engraving, Line etching, D int, Aquatint
9123942395849, 8 8 8 Iy po 1

D int, Metal engraving, Line etching, Aquatint
912943953850, Y PO B & 824

Aguatint, D int, Metal engraving, Line etchin
Q1594295851 q v po 8t & &

D int, Line etching, Aquatint, Metal engravin
Q1=294395852, v po 8 24 8t 8

Question Number : 113 Question Id : 91394324412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
anfearshi o Ggd d qeb-tenl & T A 1 =99 hif |

Options:

913345395849,

913345395850

91334595851

H13845395852

Question Number : 114 Question Id : 91394324413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Select the reverse chronological order of woodcut process.
Options:

Engraving, Drawing, Inking, Pressin
Q12943955853 8t 8 & 8 &

Drawing, Inking, Engraving, Pressin
Q12942955854 & 8 8 8 &

Pressing, Inking, Engraving, Drawin
Q1594295855 g & 8 & &

Inking, Drawing, Pressing, Engravin
Q1594395856 g g g 8t g



Question Number : 114 Question Id : 91394324413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g wfen wfskan & faem Frersen 1 =97 fif
Options:

9153394235855,

912334595854,

Sfm, S, wfem, g

913345395855,

B1334595856.

Question Number : 115 Question Id : 91394324414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the correct chronological sequence of the artists of early Renaissance.

Options:

Botticelli, Fra Angelico, Giotto, Masaccio
Q1594395857

Giotto, Fra Angelico, Masaccio, Botticelli
9123942395858,

Masaccio, Giotto, Botticelli, Fra Angelico
912943953859,

Fra Angelico, Botticelli, Giotto, Masaccio
Q1594295860

Question Number : 115 Question 1d : 91394324414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frfere QAT et faaerl % HEt Siesen i 9

Options:

atfereett, s Tofersnt, e, wmarfeat
91394395857,

foratart, w1 aferent, st tfodeft
91394395858,

wrarfeat, fet, aifodeh, w oo
91394395859



1 Cstfereht, aitfearett, Foatat, wmanferat
91394395860,

Question Number : 116 Question Id : 91394324415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the correct chronological sequence of the artists :

Options:

Satish Gujral, Ramkumar, Manu Parekh, Akbar Padamsee
Q1594395861

Akbar Padamsee, Ramkumar, Satish Gujral, Manu Parekh
913942395862,

Manu Parekh, Ramkumar, Akbar Padamsee, Satish Gujral
91294395863,

Ramkumar, Satish Gujral, Akbar Padamsee, Manu Parekh
Q1594295864

Question Number : 116 Question 1d : 91394324415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freferfiaa fesrt =t wdt Fesen & 9f
Options:

Hefte1 TR, THFHHR, HY @, Fhat qgadt
91394395861, "

91334595862, i

TR@, THHAT, ehal qgad!, Tete et
91394395263, M

THFAR, Tl 191 o, bt G, 7 Tid
91394395864, ™

Question Number : 117 Question 1d : 91394324416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Choose the correct chronological sequence of European paintings.
Options:

The Tempest, Gipsy Girl, The Birth of Venus, The Toilet of Venus
Q1594295865

The Toilet of Venus, Gipsy Girl, The Tempest, The Birth of Venus
Q1594395866



The Birth of Venus, The Tempest, Gipsy Girl, The Toilet of Venus
Q1594295867

Gipsy Girl, The Birth of Venus, The Tempest, The Toilet of Venus
Q1=94395868,

Question Number : 117 Question 1d : 91394324416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e Fespfoa =t @@t Fresrgan 9he

Options:

4t eree, forct e, § wel a1 ffem, &t efacre % d|
91394395865.

& eiacie aite o, facdt e, < 2o, &t @ orie g
41394395866,

& = w1w dim, i T, faet e, & <faeie wE dim
91394395867

foreett e, <t =l 31w iwm, <t T, & <faeie i Sia
91394395868,

Question Number : 118 Question Id : 91394324417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the following artists in chronological order :

Options:

Pablo Picasso, Modigliani, Joan Miré, Moholy-N
Q1294295869 y-agy

Moholy-Nagy, Modigliani, Joan Miré, Pablo Picasso
Q1594295870 y-agy

Joan Mird, Moholy-Nagy, Pablo Picasso, Modigliani
Q1594395871 y-hagy

Modigliani, Joan Miré, Moholy-Nagy, Pablo Picasso
913942395872, y-nagy

Question Number : 118 Question Id : 91394324417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafefiaa fasant +t adt Femagan 9f .

Options:

rect e, widiferrh, sta i, dEre-ar

91334595869,



91394395870, verett-Anft, s, st i, gt fr

91394395871 St i, rereft-Anfl, s femrt, Mdfearh

s1394395570, T, S i, wiere-Arft, arect

Question Number : 119 Question Id : 91394324418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the taglines affixed to the products as per their appearance in the Advertising
surface.

Options:
Selling Hamburgers in the Land of the Sacred Cow — McDonald’s, Lux Soap — Filmstar's
favourite Beauty Soap, Nike becomes Indian, Durex — Do The Rex

215394235873,
Lux Soap — Filmstar’s favourite Beauty Soap, Selling Hamburgers in the Land of the
Sacred Cow — McDonald’s, Nike becomes Indian, Durex — Do The Rex

2153942355874,
Durex — Do The Rex, Selling Hamburgers in the Land of the Sacred Cow — McDonald’s,
Nike becomes Indian, Lux Soap — Filmstar’s favourite Beauty Soap

215942355875,
Nike becomes Indian, Durex — Do The Rex, Lux Soap — Filmstar's favourite Beauty Soap,
Selling Hamburgers in the Land of the Sacred Cow — McDonalds

21594235576,

Question Number : 119 Question Id : 91394324418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Iearg! & gt Srargat it famre 7 guie S % FrewagEn saft fifvg

Options:

#fem rartd 37 g Avg 7% ke 13 - HeeiTegH, Ao Y — feeweerd Hafie = iy,
et faeprm 3feam, Stew - g gt

B123345395873.

& |19 — frewerd Hafte =t |y, @fam granfd 37 g dvg 317 ke 13 — AesiTeey,
rgeht o 3few, sqtve - g3t

913345395874,

T - 3.3 W, A e 9 2 Ave 3% @8 S — eeree, TR fa iR,

a9 di9 — feemeerd Safte = |y
91394395875,



argeht fareren sfewm, ogtew — g ¢ tew, &g aiv — Reenerd Safe =gt o, afem grafd 57 2 dve
% ke H13 — AasHIeeH

H13345395876.

Question Number : 120 Question Id : 91394324419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the steps of the photographic printing in a darkroom in right progression.
Options:

Drying, Exposure, Stop bath, Immersion in developer
Q1294395877 g P pe

Exposure, Immersion in developer, Stop bath, Dryin
Q1294295875 pe P Y

Drying, Exposure, Immersion in developer, Stop bath
Q1594295879 g pe P

Stop bath, Exposure, Immersion in developer, Dryin
Q1294395850 P pe g

Question Number : 120 Question Id : 91394324419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

2k =9 | wiemies ffén & s =it a8 e 4 sgafem Hifem |
Options:

@M1, TR, i ary, fedea |
9139439587 7. S

wFEter, feaem & , W9 ay, @
91394395878, sT

a1, v, fedea § , B9
91394395879 s N

=i a1y, vaEara, feaaw | , @t
91394395880, s

Question Number : 121 Question Id : 91394324420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following in terms of their inception as advertising strategies.
Options:

Unigue Selling Proposition, Brand Positioning, Media Buying, Viral Marketin
Q1=294395851. d 8 post g ying 8

Viral Marketing, Brand Positioning, Unique Selling Proposition, Media Buyin
Q1294295852 8 8 q 8 post ying



Media Buying, Viral Marketing, Brand Positioning, UnigueSelling Proposition
Q1594295853 ying & & q & Post

Brand Positioning, Media Buying, Unique Selling Proposition, Viral Marketin
Q1594395854 & ying d & post 8

Question Number : 121 Question 1d : 91394324420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freferfiaa =t famre writfeat & w0 4 wow g7 6 g @ svafem $ifiw
Options:

gfe @fcm warsftem, wie disftwfm, fifean awn, ame alen
91394395881

aTgiE qThien, Wis St g Bfem s, difen amn
91394395882,

wifean amgm, amgter Arhfen, wie rsimt, gfen dfc s
91394395883,

sits dreftafim, wfifean argn, gfe @fm witsfem, amge arfen
91394395884.

Question Number : 122 Question Id : 91394324421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the products and the taglines affixed to them in the context of their introduction in
advertising media.

Options:

FedEx — “When it absolutely, positively has to be there overnight’, Anacin — ‘Fast, incredibly
fast relief’, Domino’s Pizza — “You get it fresh, hot pizza delivered to your door in 30 minutes

or less’, Head & Shoulders — ‘Clinically proven to reduce your dandruff
291394295885,

Anacin — ‘Fast, incredibly fast relief’, Head & Shoulders — ‘Clinically proven to reduce your
dandruff, Domino’s Pizza — “You get it fresh, hot pizza delivered to your door in 30 minutes

or less’, Fed Ex — “‘When it absolutely, positively has to be there overnight’
913942935886,

Domine’s Pizza — *You get it fresh, hot pizza delivered to your door in 30 minutes or less’,
FedEx — “When it absolutely, positively has to be there overnight’, Anacin — ‘Fast, incredibly

fast relief’, Head & Shoulders — ‘Clinically proven to reduce your dandruff’
91334235887,

Head & Shoulders — *Clinically proven to reduce your dandruff’, Demine’s Pizza — You get
it fresh, hot pizza delivered to your door in 30 minutes or less’, Fed Ex — “When it absolutely,

positively has to be there overnight’, Anacin — ‘Fast, incredibly fast relief’
215394235888,



Question Number : 122 Question Id : 91394324421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Iearg! AR IR g el i e Hifew # s gEara F wed | wenegan sgaftg fifvw |

Options:

HEF — Tge 52 UsHIeHel, Uidltieact & g o GO GEEE, TATfET — "B, JHhisect! BIEe
frefte’, sifiaier fawr — 9 e 32 %91, gie fren feeftad ¢ o € 37 30 fimem st &,

91394395885, # U3 wieed — ‘Fefifmelt 3o ¢ Fogm A 3w

T — e, gaRfEselt wiee Beftw | B¢ e wieed _ eeltfawdl yaa o Frggm d Sew
St Rretr — 9 e 52 3, 2z R Fecftad 7 4R S 39 30 firrem 3t &, 3w W
weHteeett, wisfifeach & ¢ o dm sermse

9153394235886,

sifiiar fimm — 9 Tte 5 %, e fuen feeftad ¢ 9t st 37 30 fimgm s o, veww - S 3
TeHTeeet, Tiatfeaett 89 ¢ ot ¥ FHiawme, Tl — “wre, FHge W freft®’,

91394395887 & s wieed - ‘et 3o g Feegw A S5

28 Ue vived — ‘Feltfterrett yaq ¢ figqm I Sg%, siftmla fiwr — 4 712 52 %, e fren feefiad ¢
AR BN 3 30 fiem o &, $dw - Sgd 32 weHloqeel, iifeaed & 2 ot g e,
TG — T, Tehigedt! wree frefie’

21594235888,

Question Number : 123 Question Id : 91394324422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the correct chronological sequence :
Options:

Wax casting, Piece Moulding, Clay Modeling, De-Waxing
215394235889,

Piece Moulding, De-Waxing, Clay Modeling, Wax casting
291334235830.

Wax casting, Clay Modeling, De-Waxing, Piece Moulding
91394295591,

Clay Modeling, Piece Moulding, Wax casting, De-Waxing
291394295892,

Question Number : 123 Question Id : 91394324422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
He Fleish I =4 Hifa

Options:



daq Ffee, dig wifeen, w wisfm, <-affwm
91394395889,

i wifesn, S-affm, w1 aisfem, a9 wfen
941394395890,

aF Hfe, 7 wisfo, d-afFm, dw wicen
91394395891

¥ wisfam, dra Aifeen, daa wifem, d-afqm
91394395892,

Question Number : 124 Question Id : 91394324423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the correct chronology of the Sculptor/Painter.

Options:

Raghav Kaneria, Somnath Hore, Latika Katt, Ratnabali Kant
Q12943955893

Somnath Hore, Raghav Kaneria, Latika Katt, Ratnabali Kant
Q12942955894

Ratnabali Kant, Raghav Kaneria, Somnath Hore, Latika Katt
Q15942395895

Latika Katt, Somnath Hore, Ratnabali Kant, Raghav Kaneria
Q1594395896

Question Number : 124 Question Id : 91394324423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Aftterr/fesdn & adt Fresra *1 =9 Fifa

Options:

Tga AT, Sy B, afee we, e Fid
913943958973,

IHATY B, Tad AT, Wil e, Ta-rae! i
91394395294,

T hid, 9 AT, A9 8L, it ®e
91394395895,

afershl e, THATY B, TOTEd! Sid, THT FAET
91394395896,

Question Number : 125 Question 1d : 91394324424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the correct chronological order.

Options:

Trimurti, Dancing Girl, Nataraj, Chauri Bearer
913942395897,

Chauri Bearer, Nataraj, Trimurti, Dancing Girl
Q91=2943955898.

Daneing Girl, Chauri Bearer, Trimurti, Nataraj
Q1594295899

Danecing Girl, Trimurti, Nataraj, Chauri Bearer
Q12943295900

Question Number : 125 Question Id : 91394324424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HE Fletsh Sl =4 Hifa

Options:

Frafd, Jeammn, Tew, Sat arft
91394395897,

=t art, Feus, Bfd, geammn
91394395298,

Feamrn, = urdt, ffd, Ters
91394395899,

Feain, Ffd, wev, sa ard
91394395900,

Question Number : 126 Question Id : 91394324425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the correct chronology of the sculptor
Options:

Hanson, Donatello, Naum Gabo, Medardo Rosso
Q91294295901

Naum Gabo, Hanson, Donatello, Medardo Rosso
Q1594295902

Donatello, Medardo Rosso, Naum Gabo, Hanson
Q1294395903

Medardo Rosso, Donatello, Hanson, Naum Gabo
91394395904,



Question Number : 126 Question Id : 91394324425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AfeRri % T FreRn F1 T Hif

Options:

0139439500, TR Qe R TR, AR T
91394395902, A T, &6, e, derat TE
91394395903, Qi Agrt dEt, T T, 3
01394305004, TN T, TR, &7, 4 TR

Question Number : 127 Question 1d : 91394324426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Choose the correct chronology of establishment of museums in India.

Options:

Prince of Wales Museum, Indian Museum, Madras Museum, National Museum
91394395905,

Indian Museum, Madras Museum, Prince of Wales Museum, National Museum
912394395906,

Madras Museum, Indian Museum, Prince of Wales Museum, National Muszeum
9123942395907,

Indian Museum, National Museum, Madras Museum, Prince of Wales Museum
91294395908,

Question Number : 127 Question Id : 91394324426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ured # et 1 wamean % ey § adt weswa w1 wua i

Options:
91394395905, B ot aew wifrm, e wifem, wor =i, e wfem
91394395906, ifsrm, wgr =i, B o Jow R, T Jiem

sgry o, efosaa e, fira wife S s, e s

2123345395907,



sfoees wfsrm, Same wfem, g wgfem, fFg afe 300 ogfmm

913345395908,

Question Number : 128 Question 1d : 91394324427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the correct order of 4 steps of art criticism.

Options:

Describe, Analyze, Interpret, Judgement
Q1594295909

Analyze, Describe, Interpret, Judgement
Q91294395910

Describe, Interpret, Analyze, Judgement
Q1=94=295911.

Interpret, Describe, Analyze, Judgement
91594295912,

Question Number : 128 Question Id : 91394324427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tl AHTAEAT & 4 T ot HEl HH | oqatedd hifag

Options:

auf=, faveryo, sare, ok
91394395309,

ferveryo, avl, =g, Fof
913943953910,

qui=, =arE, fagemo, by
91394395911,

=TT, 9uH, favem, fokg
91394395812,

Question Number : 129 Question Id : 91394324428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose reverse chronology of sculptures of Michelangelo.
Options:

Bacchus, Pieta, Madonna of the Stairs, David
Q1294295913

David, Pieta, Bacchus, Madonna of the Stairs
Q1594295914



Pieta, Bacchus, Madonna the of Stairs, David
Q15942954915

Madonna of the Stairs, Bacchus, Pieta, David
Q15942395916

Question Number : 129 Question 1d : 91394324428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ATsheraAa! i afeat % o e w wmT fifsw |

Options:

1594395915 e, fuer, wetn a1 © wad, 2fas

91394395914, sfas, fawer, e, werm o 3 wad

913943953165, Fieer, &, W <At 2 T, 3

130430501, T N & T, ¥, i, e

Question Number : 130 Question Id : 91394324429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Choose the correct chronology of order of Roman Triumphal Arches :

Options:

Arch of Titus, Arch of Drusus, Arch of Septimius Severus, Arch of Constantine
91594235917,

Arch of Constantine, Arch of Drusus, Arch of Titus, Arch of Septimius Severus
Q1594295918

Arch of Drusus, Arch of Titus, Arch of Septimius Severus, Arch of Constantine
Q91294395919

Arch of Constantine, Arch of Titus, Arch of Drusus, Arch of Septimius Severus
Q1294295920

Question Number : 130 Question Id : 91394324429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e grmee ared (fasm gr) & ad e+ =37 Hif

Options:

913943953917, T4 377 2T, T 3% gyEw, e e Aftrfrrg Fatm, e afE FEEeE



41394395918 A SAF FIEACEH, T 316 FIHE, 3 A6 2r5ey, 3 311 Hfcefirem o

91394395919, A A% FEE, A HE 2, A A1 AR Jw, A HE FAr

A A FLALEH, AH AE T % gEw, e 3 afcefig d9w
91394395920, ' S, '

Sub-Section Number: 4
Sub-Section Id: 9139431303
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 91394324430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : Sculptors occasionally add a small quantity of salt to a molten bronze mass.

Reason (R) : Because it lowers the melting point of the bronze and also softens it physically.
Options:

(A) is incorrect and (R) is correct.
913943295921,

(A) is correct and (R) is incorrect.
Q1394395922

(A) and (R) are both correct.
Gl 3943295923,

(A) and (R) are both incorrect.
Q1394395924

Question Number : 131 Question Id : 91394324430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A= 3 for e B, T & o arfirme (A) ® i g@n a6 (R) @ | el i afen sfi e few o
Fe I T4 F T I g |
stfirma (A) : Tan it diees o o (Rreer gu e 6t w@efa) 3 50 @1 0 firard €
o (R) : F1(e 35 TRUTHEEY %1 H1 Toiis &4 8l ara1 & A g ifos sv d ft sm at smar 2
Options:
91394395921, Wit R @ TAL

A 3 (R) TTe1d & |
91394395922, &) 7@ 3l (R) &



A) #H(R I
913943954923, @ 3t R) 3 w1

A) F(R TeAd & |
91394395924, @ 3 ®) 3 g

Question Number : 132 Question Id : 91394324431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Nandlal Bose tried to develop the system of cooperation between the students
and teachers at Kala-Bhavan.

Reason (R) : Because the teachers who avoided working, students will get something from
them.
Options:

(A) is incorrect and (R) is correct.
91394395925,

(A) and (R) are both correct.
91394395926,

(A) is correct and (R) is incorrect.
Gl 3943295927,

(A) and (R) are both incorrect.
Q1394395928

Question Number : 132 Question Id : 91394324431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A= 3 for e B, T & o arfirme (A) ® i g@n a6 (R) @ | el i afen sfi e few o
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Question Number : 133 Question Id : 91394324432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Ramkinkar’s sculpture is characterised by tremendous energy, exuberance
and vitality.
Reason (R) : Because he was saturated with intense love for life.

Options:

(A) is incorrect and (R) is correct.
Gl13a43295929,

(A) and (R) are both incorrect.
Q1394295930

(A) and (R) are both correct.
9] 39432954931

(A) is correct and (R) is incorrect.
Q1394395932
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Question Number : 134 Question Id : 91394324433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Brincusi tended in all of his work towards simplification.
Reason (R) : Simplicity is not an end in art.

Options:

(A) is incorrect and (R) is correct.
Q1394395933

(A) is correct and (R) is incorrect.
9l 3a42954934

(A) and (R) are both incorrect.
Q1394395935

(A) and (R) are both correct.
Q1294295928
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Question Number : 135 Question Id : 91394324434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Paintings of Gustave Courbet contain emotional bleakness and precizion of
light and form.

Reason (R) : He felt painting should depict only what is tangibly visible to the artist.

Options:



(A) and (R) are both correct.
91394295937,

(A) and (R) are both incorrect.
Q139429593E,

(A) is correct and (R) is incorrect.
9l 34943295939,

(A) is incorrect and (R) is correct.
Q1394295940
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Question Number : 136 Question Id : 91394324435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Shifting of the Art Capital from Paris to New York in 1940s brought
conceptual changes.

Reason (R) : Because artists were exposed to free cosmopolitan society and modern
industries.
Options:

(A) is correct and (R) is incorrect.
Q13943959471

(A) is incorrect and (R) is correct.
Q1294295942



(A) and (R) are both correct.
9]l 39429594=

(A) and (R) are both incorrect.
Q1394295944
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Question Number : 137 Question Id : 91394324436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Recent auction of Tyeb Mehta's painting “Kali” has established Indian art in
the western market.

Reason (R) : Earlier, the western world was not aware of the artists working in India.

Options:

(A) and (R) are both correct.
Q1394395945

(A) and (R) are both incorrect.
Gl 2a429594E.

(A) is correct and (R) is incorrect.
Q1394395947

(A) is incorrect and (R) is correct.
Q1=294295945.
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Question Number : 138 Question Id : 91394324437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : Surrealism features psychic automation in the art of painting.
Reason (R) : Surrealism banks upon fantasy and illogical juxtaposition of images.

Options:

(A) and (R) are both incorrect.
Q1394295949

(A) and (R) are both correct.
Q1 3a4295950,

(A) is correct and (R) is incorrect.
Q1394395951 .

(A) is incorrect and (R) is correct.
Q] 3a43295952,
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Question Number : 139 Question Id : 91394324438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : Hieroglyphics is found all over in Egyptian temples, pillars, palaces, etc.

Reason (R) : Because it was used as decoration.
Options:

(A) is correct and (R) is incorrect.
Q1394395953

(A) is incorrect and (R) is correct.
Q1=294=295954,

(A) and (R) are both correct.
Q1394395955

(A) and (R) are both incorrect.
Q1=294=295935E,
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Question Number : 140 Question Id : 91394324439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Bengal Revivalism is a reactionary movement against Colonial Art.

Reason (R) : Because it rejected the Academic style of Raja Ravi Varma and advocated for
Pan-Asian Art.

Options:

(A) is correct and (R) is incorrect.
Q1394395957

(A) is incorrect and (R) is correct.
a1 29429549588,

(A) and (R) are both correct.
Q1394395959

(A) and (R) are both incorrect.
Q1=294295980,
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Question Number : 141 Question 1d : 91394324440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Block brayer and baren are used in relief printmaking.

Reason (R) : Because in this technique the ink iz applied on the raised surface and print is
taken.
Options:

(A) is correct and (R) is incorrect.
Q13943295961 .

(A) is incorrect and (R) is correct.
Gl 3a4395982,

(A) and (R) are both correct.
Q1394395963

(A) and (R) are both incorrect.
9l 2a42959E84,
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Question Number : 142 Question Id ;: 91394324441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Offset is a combined form of two words ‘off” and ‘set’.

Reason (R) : *Set’ means to arrange in order and ‘off’ means to overturn.

Options:



(A) is correct and (R) is incorrect.
Q] 3a4295985,

(A) is incorrect and (R) is correct.
Q1394295966

(A) and (R) are both correct.
Gl 3943295987,

(A) and (R) are both incorrect.
Q]13943295968,
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Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Social conflicts and the environs of aghastness pave the way to abstraction.

Reason (R) : Because the emplacement of peace and harmony nurtured realistic art.

Options:

(A) is correct and (R) is incorrect.
Q1=294295989,

(A) and (R) are both correct.
Q913943295970

(A) is incorrect and (R) is correct.
Q1394295971



(A) and (R) are both incorrect.
9l 3943295972,
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Question Number : 144 Question 1d : 91394324443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Non-figurative beauteous creations parallel to music are possible through
colours.

Reason (R) : Because it is not necessary to have an object analogy for an aesthetic creation.

Options:

(A) is incorrect and (R) is correct.
Q1394395973

(A) is correct and (R) is incorrect.
913943295974

(A) and (R) are both correct.
Q1394395975

(A) and (R) are both incorrect.
91294295976,
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Question Number : 145 Question 1d : 91394324444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Impressionism and Post-Impressionism were movements against the camera.

Reason (R} : Because invention of the camera discarded the relevance of an artist.
Options:

(A) is incorrect and (R) is correct.
Q9] 394329597 7.

(A) and (R) are both incorrect.
Q139439597 E,

(A) is correct and (R) is incorrect.
9] 2a42954979,

(A) and (R) are both correct.
Q139432959580
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Question Number : 146 Question Id : 91394324445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Each art work is an emotional transformation of the sensory perception.

Reason (R) : Because the substance without sensory perception does exist.

Options:

(A) is correct and (R) is incorrect.
Q91394295951

(A) and (R) are both correct.
Q1=294=298982,

(A) is incorrect and (R) is correct.
Gl 3a42959583,

(A) and (R) are both incorrect.
Q1394295954

Question Number : 146 Question Id : 91394324445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= &t o fou o 8, o @ v i (A) B ofte @ 7 (R) B 1 el i e off i fag o
e WA w T I g |

ST (A) : Yeieh Faarehia Ufegeh A 1 HETeHsh T § |

7% (R) : #itf o wfe o % oft wgred w9 & gen et 2

Options:

(A 3 (R) TTe1d & |
91394395981, e ) &

(A) (R I
91394395982, } ) 3w &

(A) 7T & (R I
91394395983, } & )R

(A) (R TeAd & |
913943953954, } ) 3 g



Question Number : 147 Question Id : 91394324446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Billboards (also called hoardings) are typically found in high-traffic areas,
presenting large advertisements to passing pedestrians and motorists.

Reason (R) : As such, folks in cities, nowadays are spending more time in transit and less
time in the home.

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942935985,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294395956

(A) is true, but (R) is false.
H13345395987.

(A) is falze, but (R) is true.
Q1394235988
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Once the idea of ‘Graphic Symbol’ was a simple and all-embracing term for
any single, coherent, visual device that denoted identity, recognition, ownership of
affiliation.

Reason (R) : Because the modern use of ‘logo” and ‘mark’ has pushed the meaning of the
‘Symbol’ into a corner.
Options:

(A) is correct and (R) is incorrect.
Q1394295959,

(A) and (R) both are correct.
Q1 23a4295990,

(A) is incorrect and (R) is correct.
Q1394295991

(A) and (R) both are incorrect.
Gl 3a43295992,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 149 Question Id : 91394324448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : The roots of Psychedelic design dug deep into other alternative art forms,
where LSD was the rocket to an unexplored universe of perception.

Reason (K) : Late 198 century ‘Art Nouveau graphic patterns’ that defined ‘Fin-de-Siécle’
yvouth cultures and the surrealist dreamscape were also an outlier for the psychedelics.

Options:

(A) is correct and (R) is incorrect.
Q1294295992

(A) and (R) both are correct.
Q1394295994

(A) is incorrect and (R) is correct.
Q1=294=295995,

(A) and (R) both are incorrect.
Q13943295996

Question Number : 149 Question 1d : 91394324448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 150 Question Id : 91394324449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Brand identity design iz executed by creating a cohesive message that ties
together company values, signage, business cards, uniforms, menus, vehicle decals and
more.

Reason (R) : Brand identity design, if done correctly, should resonate with your target
audience and differentiate you from your competitors.

Options:

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294395997

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394395996,

(A) is falze, but (R) is true.
Q15942959599

(A) is true, but (R) is false.
Q13943295000

Question Number : 150 Question Id : 91394324449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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